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 ∃  & ∃ 
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& +&  
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   ) . /
0   +1& 
 +. !∋
23    
   ,
 #  2 4
   ! 
 ∗  − !+
+ 5 5  ( 
 ∃   
    )
!  )++ ,
&  &
    
6 ∃ + 6)

    % 
  !
 ( 

 ( ∗ 5 7 
#& 5 !  %)
6    
& ∃ 5 6(
∀ ∃.  
  %+
∀ + ( 

+)  )
   
2  8   
∃) !&
 %)2 
5   & 
   


   
  


8 )  
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   ( 
    
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+ 0   &
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) 5∃&  
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)∋  (  
)&  5 
 ,(  & ∃
  ) 0− (
 +&   
 6(   
% 5& ∃  1&
 23  ( 
  
9  

5 !++  ) (
) 5&     
   
     
) )(&  
    7)

 &   +.  %
     
∃   
  !++ 
   +
   


  
   
  

2∋   ,(+.
 &  
   )∋+
∀)&   6)
 !) = ,  !+
+   ∃ & 
  %   −
+  + & ∃ 
∀  ∀. 
&   & ∃ 
+  ∃
    
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 (
 63 ∃( 

+ 2 5
ΕΑ???     −
(   .
   
5&    >???
  ) ∃(
 7 + 

 (  ∃ 8
   
  % 
& ∃   

  
 3 &   
 +
)∋&  7 8
∃  + 
5& ∃  
.   
 ∃

%  ,∋
 /∋∀

,( 7 ) ∃
  Λ 

,   ∀
 &  63
   
&   8
  7)
 ,  

 ( 2+.
   6
 ∀  
∀ ∀ 
)   
∀ ∃  8  
)    ,
   
 −+&  

 ( ! −+
 ∋
  

.  ∀3∃.
 ∃& 5∃
  −  
+∋  
 ∃ )∋ 8∋
   ,
&    
 ) 
   5

&  Β? 4  
 (  Λ 
  )∋

    
 ! ./+ ∀  0 + +/ 1

  5
2 ,
& 2∋& 6∋∃
     )
  9
  
Χ? 7  Μ)
 ,∃ 
− 6+)  

:&   
∗ ! 
( 8) −  )
 ∀∃ (  ,
∃   2 
∀)    %
(&    
(    
 &   ).
 5 # 
  (∃. 4
  & ∃  
  6
 5 5   >???
4  
 ∀ ∃ 5

 :  :
  ! 
    7
   Λ (
 ∀   ∃
   ∋  6∋
)& ∀  
  & ∃ 
,∗&    
 !  +
 ∃

643 61/93(546911:
 & 2/  
   3
 4 +
/ +++(∀


 
 !

  
∋ 
−   5
4! . 
& >Ε 4&  ΧΦΒ?
< ∃   0!
 (   21
 Μ) 
  ∋ 
 6   7 
2  2  
6 09   ∀
Ν1 −  (
 !  
   ∃  
,  : < 
( )& !3&
 & 2 /  
 ,

; 3 ,
 &#&
− <&#&
 . 7  8)
   7&
Β? 6.&  ,,
 7+  .
 !)  7
) % 8
 () )  ∗)
   
) ∀ 8  
,,  
  5 ,
& & %  8
 ∀  
    4 ∋
& ∃  +  
2  5. −
 )∋   
8# +∋  
  ?ΙΙ>≅ΗΕ ΙΧΒ
 ?ΙΙ>≅ΗΕΙΧ> 
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! ∀ +
 ! +

−  0 ) #1
/    #
3  ()& 
 & >Α 4& 
Χ <    
 # + ∃ −
 % 7  2
+  
 0+))1  2
7     
     Χ≅Β? <

& ∃  5   4∃%6!   7  7 7  ∀ 8  
7/ +  .! ∋ ∀     ∃  /  3%! ∃∃− ) /
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